Signed multiplication up to 12 #6

|
TX X X X X o X oo Zox g ox ox
N —~ o~ — — o~ — ~ ~ — 00O I~ ~—~ ~—~
— o 0 O o~ - ™ X X ox = =y X 1o X ™
| _ _ _ _ _ _ o _ _ =
M — N~ D ~— — [@\] D~ ~—  — <t [@)) — ~— — ~—
~—~~ Y~ ~ I~ I~ N~ /N /N /N I~ o~
— N P < LO O - 0 (@) - — [N P <t LOO O D~ 0 (@) ()
(@] @\ @\ [N [N N AN (@] (@] (A (am) (a) (am) am ] ) ) () (a) <t
I I
(=) )
: Lo __ n n __ __ : __
= N o | | — [ = o
x| o | - 1 = = g |
9 x I X % | I I ”
@\ — —~ X —~ O —~ o — © — - —~
— - = o X ™ X X X X
Cox T ox 409 x ® DT x o ox o x Oox ox S5 00T
~— [@\] ~— D — ~— (ae) ~— — ~— Ne) [@\] (0'@) — o0 o0 — — — ~—

/N -~/ N I~ N /N /N /N /N N N TN TN



B~ W N

© oo = O Ot
_ D e T T T O

Signed multiplication up to 12 #6 (Solutions)

(—12) x 9 = —108 21) (—12) x (—4) = 48
2 x 10 = 20 22) (=5) x 12 = —60
(—7) x 12 = —84 23) (—8) x (—8) = 64
0 x (—8) = —72 24) (—6) x 5 = —30
12 % 6 =72 25) (—11) x 12 = —132
(=0)x9=0 26) (—=7)x3=-21
3x9=27 27) (=5) x (—=9) =45
(—8) x (—10) = 80 28) 9 x 10 = 90
11 x 3 =33 20) (—3) x (—2) =6
(—3) x (—12) = 36 30) 10 x 5 = 50
6 x 8 =48 31) 2 x (—10) = —20
2 x (—6) = —12 32) 7 x (—12) = —84
8 x 6 =48 33) (—11) x (—6) = 66
11 x 10 = 110 34) (=7) x (—11) =77
8 x (—4) = —-32 35) 4x8=32
8 x4 =32 36) 9x7=63
10 x (=7) = =70 37) 11 x 6 = 66
10 x 12 = 120 38) (=5) x 10 = —50
11 x 9 =99 39) 10 x (—6) = —60

)

(—4) x 8 = —32 40) (=2) x9=—18



